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Q1/ MCO test Answer the followmo .

1: The reduced phg&le is mterested in two var

Answer: @p & b F&T ¢) p & conc. d) T & conc.

d »'I'l“/KwU&L% -
2: Ideal solution follows - - - - - - - - - - law. :
Answer: a) Raoult’s b) Trouton ’s c) Henry s law Ws law

L v/ 't"(/ (’,{/ / )}b 2

3: The three phases of H20 in thﬁzase diagram cets?

Answer: a)atl atm : ¢) below latm d) at any pressure
4: Liquid solutlon _)’ HN03 is formed from9 e
Answer: (@I € DAC. . c)3C TR h4C [,
> y J P “' ey .. { {s ¢ <
5: How many phases are there when the number of variants is zero and the numberwof components is one?
Answer: a) zero L N WS d)3
\ " VO B)A -
o “os Y Bl )JL; e

6: The Clausius-Clapeyron equation can be app?ied when there is an equilibrium between one of the following?
Answer: a)L & L ' b)S&% c)G&L Cj%s
A o’ £/ 2 L/’ 4

7: One of the followir%epresents the right equatzon "f Hen;v ’.§ law?

Answer: @ P1= 4P/ b) Py> XAP 4 | = Pa<ypili d) none of these
~ XY ol lela fp -
8: Molality is used to calculate the molar mass o]’the’ z 1603 E
Answer: a) non-volatrle solute A b) !mre solute Wnt d) solution
My Wbl ErANst Uy %, N e

9: Osmosis pressure exerts when the Ivent transfers/to the? X

Answer: a) volattle solute non M c) pure solvent d) solution
\p, _‘v‘_ r gt > ;). )! g ’\/ /, {

10- One of the mostimportant-benefits easuring AVP, ATy, ATy and All is to calculate - - - - - of B?
Answer: @ oV d)p ;
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% The vapor pressure (VP) of a substance i is 3 30 torr at 23 250 K At what temperature wnll the substance have
VP of 150 torr? AvapH is 45 kJ mol'?
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(A §z B) do not react with each other A

(\/ /\._‘__/-' e P}

freezes at (— 5°C)and B freezes at (7 °C), and that an eutectic mixture'is fbrmed when the ratlo is 70 wt

% of A and that the eutectic melts at (— 10°C), then label all t of the diagram? it a/
s g "
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